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INSTRUCTIONS TO CANDIDATES (Please read these instructions carefully)

1.

You have been given this question booklet and a separate answer sheet. The question booklet contains 50 questions.

2. Do any necessary rough work in this booklet.
3.  When you have chosen your answer, mark iton the ANSWER SHEET, not in this question booklet.
HOW TO USE THE ANSWER SHEET
4. Useonlyan ordinary pencil.
5. Make sure that you have written on the answer sheet:
YOURINDEX NUMBER
YOURNAME
NAME OFYOUR SCHOOL
6. By drawing a dark line inside the correct numbered boxes mark your full Index Number (i.e. School Code Number and the
three-figure Candidate's Number) in the grid near the top of the answer sheet.
7. Donot make any marks outside the boxes.
8. Keep the sheet as clean as possible and do not fold it.
9. For each of the questions 1-50 four answers are given. The answers are lettered A, B, C and D. In each case only ONE of the
four answers is correct. Choose the correct answer
10. On the answer sheet, show the correct answer by drawing a dark line inside the box in which the letter you have chosen is
written.
Example
In the Question Booklet.
Forquestion 19 to 22, choose the alternative that means the same as the underlined word.
22. Theneighbours managed to put out the fire.
A. cool
B. extinguish
C. defeat
D. cover
On the answer sheet:
tA1 B cCar D tAr Bl cCar e[ c A ofma cCo D tAr By i Ca fD] tA B cCar D
In the set of boxes numbered 22, the box with the letter B printed in it is marked
11. Yourdarkline MUST be within the box.
12. Foreach question ONLY ONE box is to be marked in each set of four boxes.
—
=
=

This question paper consists of 7 printed pages and 1 blank page.
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Read the passage below . It contains blank spaces numbered 1-15. For blank spaces choose the best 7
alternative from the choices given

i . The government __1___today tha: ‘he bus _ —2___ forthecities. 3 increase___4___
the end of the mouth.

Someofthe __§___ given were high petrol__ 6___and high costof __7___. Reports said

thatthis__8  wasmadeonlyasalast 9 tosave the transport industry,

People __10___were___11___ made it very cleat that the government was making 12,
One of them said, “Itisabad ___13__ . They should ___1 4___thatpeople _ 15__ just stop taking
buses and decide to walk or even Cycle. )

1. A.announcs B.announcement  C. announces D. announced
2, A. fair B. fairs C. fare D. fares
3. A.will B. can C.shall D. night
4. A, over B. by C.in D.on
5.  A.excuse " B. excuses C. reasons D.reason
6. A. price - B. prices C. costs D. prizes
7. A. maintenance B. maintenance C. maintainance D. mantinance
8. A. verdict B. reason C. decision D. conclusion
9. A.result B. entity C. action D. resort
10. A.who B.who's C. which D. whom
11.  A.interrogated B. interviewed C. examined D. tested
12. - A.anerror B. these mistake C. amistake D. these error
13. A.movement B. choice C. tackle D. move- '
14. A.find B. realize C.reason D. tell
15. A.will ~ B.can C. must D. ought
Choose the best preposition to complete For questions 19 - 21, choose the best answer
Question 16 to 18. ' fo complete the sentences.
16. Women can do well in football contrary 19. Each of my brothers given a new
Y _common belief, : ball.
A. for B. of A.was B. are
C.to0 D. under ' C. were . D.will
17.  The county volleyball team would not go 20. My father and confidant ' here
without a fight. now. :
A.down B.up , A.was B.are !
C. with D. for C. were D.is
18. Heturned ______anew leafafter being 21. Neither the bankers nor the customer ;
the family’s black sheep. : awarded.
C.into D. off . C.are D. was
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In question 22 and 23, choose the Sentence that C. The policeman shouted that John go out
means exactly as the piven Sentence.,
22. Kenya is the most developed country in

D. The policeman ordered John to go out

Eastern Africa. then
A.Kenya is more developed than many Choose the correct pronoun to fill the blani .
other countries in Eastern A frica spaces.

B. No other country in Eastern Africa is as 24

Kelly and went swimming yesterday.
developed as Kenya -

C. Kenya is among the most developed A- h‘er Faciiie
countries in Eastern A frica C.she D.us
D.Kenyais a developed as other countries 25. That is the boy father is a pilot.
in Eastern A frica A wiho's B. whose
. t 1o 122
23. The policeman said, “John, go out now! C. whom D. which

A. The policeman requested John to go out
B. The policeman said John do out now

bare fields and from the grazing grounds which the hooves of our umerous animals have tumed to powder.
I'am still too young to be given much say in family matters but | feel that if I was given a chance a
number of things would happen.

Iknow it would not be a popular decision but [
would stop the cutting of trees for charcoal burning; I would plant a lot of wattle trees on the upper slopes:
there is good money in wattle bark and poles. In the waterloggged area near the river, I would plant gum



26. Accordingto paragraph one, it’s true to say
that :
A, The writer was a farmer
B. The writer’s family shamba was quite big
C. The writer’s father paid others to improve
the family shamba,
D. The writer was willing to help improve
the family shamba if allowed
27. The writer’s family shamba
A. isin Mwea
B. is used for growing rice
C. is modest in size composed to other
D. is one of the largest in the area
Why does the writer’s father not cor “ider
himselfrich?
A. Twenty hectares is for the poor
B. He is a modern man
C. He does not have what he considers as
wealth
D. He still keeps what he owned fifty years
ago
According to the writer, his grandfather
A. used to reap more beautifu] maize than
his father
B. taught his father the art of growing maize
C. was not as good a farmer as his father
D. hoped to outdo his father one day
The term in the early sixties is underlined.
It may mean?
A. after half a century
B. around 1965
C. between 1960 and 1963
D.in 1960 ,
31. Allthe following features lie in close
Pproximity to the writer’s property except
A. a fast flowing stream
B. the eastern slopes of Mt. Kenya
C. avalley
D. waterlogged
32. The house the writer lives in
A. was built during the emergency
B. was built by his father

28,

29,

30.

33.

34,

3s.

36.

37.

38.

C. had a beautifu] garden of pu:nkins and
cabbages
D. was a post -emergency building
As aresult of the father’s clansmen
A. the writer’s father has become very rich
B. alot of charcoal is sold by the writer’s
father
C. erosion has destroyed a huge chunk of
their farm
D. the land is being reclaimed
It is true from the passage to say that
A. the writer’s family shamba doesn’t
produce much
B. the writer’s family shamba is a replica of
Wwhat it was during the hey days
C. no maize is ever harvested by the writers
father 7
D. the clansmen do not benefit much
Ifthe writer were given a chance, he would
do all the following except
A. stop all activity on the maijze shamba for
about one year
B. keep fewer cows
C. introduce rotational grazing
D. enrich the shamba with manre from the
COws
The term exhausted is underlined. What
does it mean according to the passage
A tired B. infertile
C. lethargic D. fertile
Whom do you think would not support the
idea of not felling trees for charcoal?
A. The father B. father’s clansmen
C. the family D. the neighbours
Which one of the following would be an
appropriate title for the passage?
A. An ounce of protection is worth a pound
of cure |
B. don’t judge a book by its cover
C. Hurry hurry has no blessing
D. All that glitters is not gold

SRR

Read the passage below 1o answer questions 39 - 50

The urge for instant gratification among the young i

Kenya. Worse, are those borrowing to finance their expensive lifestyles,
Founder and chief executive of software firm Compulynx Limited Sailesh says, “young people

getting into well paying jobs move fast to acquire a good car and live in exclusive neighbourhoods with

an €ye on expensive holidays and binge parties.

“In case, they get a better Paying job, they chan
opportunity to grow their careers, Such lives funded

by

8¢ employers very fast, denying ‘themselves an
costly loans have eroded the savings culture that

e mantnin |

cvery Kenyan needs to inculcate early in life.” Enwealth chief executive Simon says that a Sh.5,000 a

month saving for 40 years could see an astute person

of the mandatory 60 year retirement age.

receive a minimum of sh24 million upon attainment

-
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ment or risk falling into the heavy

“This is due to compounded interest accrued over time, Young people must plan early for a happy

extremely high interest rates,” he says.

This has condemned many to a loan laden workin
While the two CEOs affirm th

e need to save and gro

spending stretch that leaves them with big loans to service at

g life with little retirement savings, he says.
W into successful careers over time, formal sector

employees, who have saved up to “Sh 1.2 trillion with pension sshemqs, could soon enjoy higher returns
after a new law allowing use of pension cash to fund infrastructure projects was passe:d. b o .
Retirement Benefits Authority (RBA) chief executive Mutuky said Kenyans in 14 ‘big’ pension

schemes had provided Sh 254 billion for investment in public infrastructure bonds. Aadressing aone day

pool resources via a public private partnership (PPP)
“Studies show Americans are better savers th
on savings. Kenyans are learni

retirement via pensi
in the last decade to stand at Sh 1.2 trillion,”’ he said.

pension schemes” visiting Nairobi, Mr Nzomo
infrastructure bonds. where pension schemes could
arrangement.

an Kenyans and passionately plan for theijr

ng fast, which has seen pension savings rise four fold

39.

40.

41.

42.

43.

44,

According to paragraph one, its true to say

that

A. Kenya’s youth does not save anything

B. Some young Kenyans are borrowing
money to show their lives

C. The savings culture is poorly entrenched
among the young

D. Instant grafication is one of the biggest
blows to a savings culture .

According to Sailesh Savani young people

getting into well-paying jobs do all the

following except

A. buy sleek cars

B.livein leafy neighbourhoods

C. going on expensive holidays

‘D. live in rundown apartments

Why do young people change employers?

A. to indicate the savings culture

B. to fund their costly loans

C. to grow in their careers

D.tomoveontoa better paying job

Saving sh 5000 for 40 years will guarantee

A. at least 24 million at the age of 60

B. at most 24 mijllion at the age of 60

C. 24 million after 60 years

D. 24 million at the age of 60

An astute person is

A. one who is young

B. one who is inept

C. one who is insightful

D. one who is employed

How can the young people plan early fora

happy retirement? ,

A. Leaving their Jjobs earlier than at the age
of sixty

B. putting away some money évery month

C. taking interest free loans for cars

D. doing everything after retirement

45.

46.

47,

48.

49.

S0.

What is the antonym of the word mandatory

as used in the passage ’

A. compulsory i
B. voluntary

C. bound

D. obligatory

The formal sector employees !
A. have been condemned to 3 loan laden life
B. are worse off than the young employees
C. have scared at least 1.2 trillion shillings
D. have saved at most 1.2 trillion shillings
All the following are infrastructure projects
that can be funded by pension cash except
A. non-interest loans

B. constructing greenhouses

C. building houses

D. purchasing land

According to the passage, how many
pension schemes are in Kenya

A. fourteen

B. at most fourteen

C. very many

D. not'more than fourteen

The word decade has been highlighted to
mean #

A. the last one hundred Years

B. the last fifty years

C. the last ten years

D. the last five years

What would be the best title for the
passage?

A. Posh lifestyles

B. Savings among Kenyan youth
C.Kenyaand American youth

D. Gainful employment
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The following is the beginning of a composition. Coiuplese it nwaking it as interesting us you con.

My mother had just arrived home. She was not her usual self. Icould tell she had been
crying.

...............
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